1. a(y-3)+4(3-y) & 5=alotA?

D -(y+3)(a+4) @ (y+3)(a+4)
® a(y-3) @ -3)a-1)
® (y-3)(a+4)

a(y=3)+43-y) =a(y-3)-4(-3+y)
=(y-3)(a-4)
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® a*-b* = (a-b) (a® +ab+b?)
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¥ -6x+ta=(x-3)2=x>-6x+9=(x—-b)?
“a=9 b=3
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x? = 6x+a= (x—b)?
(x=3)? = (x—b)?

¥ —6x+9=(x—b)?
“a=9,b=3




7. @ -4b? & Q5-EofshH?

D (a-2b)? @) (a +26) (a-20)
® (a+Db)(a—4b) @ (a+2)(b-2)
® (a+2b)*

a2 — 4b? = a? - (2b)*
= (a+2b) (a - 2b)
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O @+1)E+8) @ (x-1)x-8) @r+1)(x-8)
@ (x—1)(x+38) ® (x—2)(x—4)

‘ ¥ -Tx-8=(x+1)(x-28)
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8a2 -30a+ 7= (2a-7) (4a—-1)
wtebA] E99] Zol= {(2a - 7) + (da— 1)} x2 = 12a—16 °]c}.
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27a% — 102a + 11 = (3a — 11) (9a — 1)
ek B8] Zole {(3a-11)+ (9a-1)} x 2 = 24a - 24
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@ xy(2x-1) @ 4dx
@ x(2x-1) @y(2x +1)

® 4y

8x%y — dxy = 4xy(2x — 1)
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siE4e o835k 132 - 122 = 13412 2 A4t

® a®+ 2ab+ b* = (a + b)?
@ a*-2ab+b* = (a-b)*
@)a?-b* = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)
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132 -122 = (134 12)(13-12) = 134+ 12 =25
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@1 @ 2 @ 3 @4 ® 5

a’*-b*=(a+b)a-b)=(a+b)x1=4
La+b=4
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=y +3(x+y) = (x+y)(x-y) +3(x+y)
= (x+y)(x—y+3)
= V3(V5+3)
= V15+ 33
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@ ab+1)+(b+1) =

(a+1)(b+1)

@ (x+y)?-2(x+y)+1=(x+y-1)?

@ F+dx+4-y>=(x+y+2)(x-y+2)

@ (x+2y)% - (3x—2y)% = —8x(x - 2y)

@ (x-3) +2(x-3) -
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8= (x+1)(x-6)

® x-3=x 21 59
(x—3)2+2(x-3)-38

=X?+2X-8
(X+4)(X-2)
(x-3+4)(x-3-2)
=(x+1)(x-5)
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2x2 —dx =2x(x-2), ¥ -4 = (x+2)(x-2)
mebA 5291 QleE x -2 o|th
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9 a+ b O FE2?
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(x+b)(3x—2) =3x*> + (-2 + 3b)x - 2b °| B2
3x% + (=24 3b)x — 2b = 3x* + (3a + 16)x — 6
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L a=-3 La+b=0
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2x2 +Ax-3=(x-3)(2x+a)
=2x>+ (a—6)x-3a

-3a=-3, .a=1
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(¥ —dx+4)- (> -2y +1)
(x-2)-(y-1)
{G=-2)+-D}{x-2)-(-1}
=(x+y-3)(x-y-1)

O|BE x4+y=231, x—y=11 5 JY5IH
(P —dx4+4) - (P -2+ 1)
=(31-3)(11-1)=0.1x 10 =1 ]t}
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= (- 14y +49) =7 - (y-17)°
=@x+y-T(x-y+7)
S(xty-T+(x-y+7) =2x




25.

x=-3+ Vb & ], x* 4+ 6x+9 O F& FoHH?

x24+6x+9=(x+3)2=(-3+V5+3)2=5




